



On the Split-Complex Neutrosophic Numbers and Their Algebraic Properties

Abuobida M. A. Alfahal^{1,*}, Yaser A. Alhasan², Raja A. Abdulfatah³, Rozina Ali

^{1,2,3}Deanship of the Preparatory Year, Prince Sattam bin Abdulaziz University, Alkharj, Saudi Arabia

⁴Cairo University, department of mathematics, Cairo, Egypt

Emails: a.alfahal@psau.edu.sa; y.alhasan@psau.edu.sa; r.abdulfatah@psau.edu.sa; Rozyyy123n@gmail.com

*Corresponding author: a.alfahal@psau.edu.sa

Abstract

The objective of this paper is to define for the first time the concept of split-complex numbers as a new generalization of classical split-complex numbers by using neutrosophic numbers. Also, we study the elementary properties of this new numerical class such as equations, conjugates, and vector spaces formed by it. On the other hand, some special AH-subspaces will be presented and handled with many corresponding examples.

Keywords: split-complex number; neutrosophic number; neutrosophic split-complex number

1. Introduction

The split complex numbers are defined as a similar algebraic structure to the complex numbers. The set of split-complex numbers is defined as follows: $S(J) = \{a + bJ; a, b \in R, J^2 = 1\}$. [1-2]

Split-complex numbers $S(J)$ have a commutative ring structure, and they have many applications in physics and relativity [3].

Neutrosophy is a new kind of generalized logic presented by Smarandache [11] to deal with indeterminacy in all fields of science and real-life problems. As a result of Smarandache's work neutrosophic numbers were defined and studied widely by many researchers [4-10], where we find neutrosophic algebraic structures such as modules, spaces, matrices, and rings. The ring of neutrosophic real numbers is defined as follows: $R(I) = \{a + bI; a, b \in R, I^2 = I\}$. The element I is called the indeterminacy with a logical property $I^2 = I$. Neutrosophic numbers are considered as a generalization of classical real numbers with many deep applications in many scientific fields, see [12-17].

The previous works have motivated us to combine split-complex numbers with neutrosophic numbers to get a novel generalization of real numbers, where we define the concept of neutrosophic split-complex numbers, and we present many elementary properties of these numbers in terms of theorems. On the other hand, we clarify the validity of this work by illustrating some examples to explain the algebraic properties of these numbers.

2. Main discussion

Definition: Let $x = x_1 + x_2I$, $y = y_1 + y_2I$ be two neutrosophic real numbers, where $I^2 = I$.

We call $X = x + yJ$; $J^2 = 1$ a split-complex neutrosophic number.

Remark:

1). The split-complex neutrosophic number X can be written as follows:

$$X = (x_1 + x_2I) + (y_1 + y_2I)J = x_1 + x_2I + y_1J + y_2IJ; I^2 = I, J^2 = 1, IJ = JI.$$

2). $(IJ)^2 = I^2J^2 = I^2 \cdot 1 = I^2$.

3). We denote the set of all neutrosophic split-complex numbers by $NS = \{x_1 + x_2I + y_1J + y_2IJ; x_i, y_i \in R\}$

Definition: the addition operation on NS is defined as follows:

(+): $NS \times NS \rightarrow NS$ such that:

$$(x_1 + x_2I + y_1J + y_2IJ) + (z_1 + z_2I + t_1J + t_2IJ) = (x_1 + z_1) + (x_2 + z_2)I + (y_1 + t_1)J + (y_2 + t_2)IJ$$

The multiplication operation on NS is defined as follows:

$(.) : NS \times NS \rightarrow NS$ such that:

$$[(x_1 + x_2I + y_1J + y_2IJ) \cdot (z_1 + z_2I + t_1J + t_2IJ)] \\ = x_1z_1 + x_1z_2I + x_1t_1J + x_1t_2IJ + x_2z_1I + x_2z_2I^2 + x_2t_1IJ + x_2t_2I^2J + y_1z_1J + y_1z_2IJ \\ + y_1t_1J^2 + y_1t_2IJ^2 + y_2z_1IJ + y_2z_2I^2J + y_2t_1IJ^2 + y_2t_2(IJ)^2$$

Since $I^2 = I, J^2 = 1$, we get:

$$= (x_1z_1 + y_1t_1) + (x_1z_2 + x_2z_1 + x_2z_2 + y_2t_2 + y_1t_2 + y_2t_1)I + (x_1t_1 + y_1z_1)J \\ + (x_1t_2 + x_2t_1 + x_2t_2 + y_1z_2 + y_2z_1 + y_2z_2)IJ$$

Example : consider the following two split-complex neutrosophic numbers:

$$X = 1 + I + 2J - IJ, Y = 2 - I + J + 3IJ$$

We have:

$$X + Y = 3 + 3J + 2IJ, X \cdot Y = 2 - I + J + 3IJ + 2I - I + IJ + 3IJ + 4J - 2IJ + 2 + 6I - 2IJ + IJ - I - 3I$$

$$X \cdot Y = 4 + 2I + 5J + 4IJ$$

Definition: Let $X = (x_0 + x_1I) + (x_2 + x_3I)J$ be a neutrosophic split-complex number, we define its conjugate as follows:

$$\bar{X} = (x_0 + x_1I) - (x_2 + x_3I)J = x_0 + x_1I - x_2J - x_3IJ$$

Definition: Let $X = (x_0 + x_1I) + (x_2 + x_3I)J$ be a neutrosophic split-complex number, we define the s-norm as follows:

$$\|X\|^2 = X \cdot \bar{X}$$

$$\|X\| = \sqrt{|X \cdot \bar{X}|} \text{ is called the norm of } X.$$

Theorem:

Let $X = (x_0 + x_1I) + (x_2 + x_3I)J$ be a neutrosophic split-complex number, then

$$\|X\|^2 = (x_0 + x_1I)^2 - (x_2 + x_3I)^2$$

Proof.

$$\|X\|^2 = [(x_0 + x_1I) + (x_2 + x_3I)J] \cdot [(x_0 + x_1I) + (x_2 + x_3I)J]$$

$$= (x_0 + x_1I)^2 - (x_2 + x_3I)^2J^2 = (x_0 + x_1I)^2 - (x_2 + x_3I)^2$$

Remarks:

1). The s-norm of a neutrosophic split-complex number is a neutrosophic real number, i.e. $\|X\| \in R(I)$.

2). According to [], the absolute value of a real neutrosophic number $a + bI$ can be computed as follows:

$$|a + bI| = |a| + (|a + b| - |a|)I \geq 0.$$

$$\text{Also, if } a + bI \geq 0, \text{ i.e. } a \geq 0, a + b \geq 0, \text{ then } \sqrt{a + bI} = \sqrt{a} + (\sqrt{a + b} - \sqrt{a})I$$

The formula of norms:

Consider $X = (x_0 + x_1I) + (x_2 + x_3I)J \in NS$, then:

$$\|X\|^2 = (x_0 + x_1I)^2 - (x_2 + x_3I)^2 = (x_0^2 - x_2^2) + I(x_1^2 + 2x_0x_1 - x_3^2 - 2x_2x_3) = a + bI, \text{ where}$$

$$a = (x_0^2 - x_2^2), b = (x_1^2 + 2x_0x_1 - x_3^2 - 2x_2x_3)$$

$$\text{First of all, we have: } |a + bI| = |x_0^2 - x_2^2| + I[|(x_0 + x_1)^2 - (x_2 + x_3)^2| - |x_0^2 - x_2^2|]$$

This means that:

$$\|X\| = \sqrt{|X \cdot \bar{X}|} = \sqrt{|a + bI|} = \sqrt{|a| + (|a + b| - |a|)I} = \sqrt{|a|} + (\sqrt{|a + b|} - \sqrt{|a|})I$$

$$= \sqrt{|x_0^2 - x_2^2|} + \left(\sqrt{|(x_0 + x_1)^2 - (x_2 + x_3)^2|} - \sqrt{|x_0^2 - x_2^2|} \right) I$$

Example:

$$\text{Take } X = (1 + 2I) + (2 - I)J; x_0 = 1, x_1 = 2, x_2 = 2, x_3 = -1$$

$$\bar{X} = (1 + 2I) - (2 - I)J, \|X\|^2 = (1 + 2I)^2 - (2 - I)^2 = 1 + 8I - (4 - 4I + I) = 1 + 8I - 4 + 3I = -3 + 11I$$

$$\|X\| = \sqrt{|-3 + 11I|} = \sqrt{|-3| + I(|8| - |-3|)} = \sqrt{3 + 5I} = \sqrt{3} + (\sqrt{8} - \sqrt{3})I$$

On other hand, we have:

$$\sqrt{|x_0^2 - x_2^2|} = \sqrt{3}, \sqrt{|(x_0 + x_1)^2 - (x_2 + x_3)^2|} = \sqrt{9 - 1} = \sqrt{8}$$

Thus, by using the previous, we get:

$$\|X\| = \sqrt{3} + (\sqrt{8} - \sqrt{3})I$$

Remark:

$(N_S, +, \cdot)$ is a ring that contains $R(I)$.

The condition of invertibility :

Let $X = (x_0 + x_1I) + (x_2 + x_3I)J$, then X is invertible if and only if $x_0 + x_2J, (x_0 + x_1) + (x_2 + x_3)J$ are invertible split-complex numbers.

Proof.

A neutrosophic number $a + bI$ is invertible if and only if $a, a + b$ are invertible [].

On the other hand, X can be written as follows:

$X = (x_0 + x_2J) + I(x_1 + x_3J)$, thus X is invertible if and only if $x_0 + x_2J, (x_0 + x_1) + (x_2 + x_3)J$ are invertible.

The inverse formula:

Let $X = (x_0 + x_1I) + (x_2 + x_3I)J$ be an invertible neutrosophic split-complex number, then:

$$X^{-1} = \frac{1}{X} = \frac{x_0 - x_2J}{x_0^2 - x_2^2} + I \left[\frac{x_0 + x_2 - (x_2 + x_3)J}{(x_0 + x_2)^2 - (x_2 + x_3)^2} - \frac{x_0 - x_2J}{x_0^2 - x_2^2} \right]$$

Proof.

We write $(x_0 + x_2J) + (x_1 + x_3I)J$, by using the formula of the inverse of a neutrosophic number, we get:

$$\begin{aligned} X^{-1} &= (x_0 + x_2J)^{-1} + I[(x_0 + x_2J + x_1 + x_3I)^{-1} - (x_0 + x_2J)^{-1}] \\ &= \frac{x_0 - x_2J}{x_0^2 - x_2^2} + I \left[\frac{x_0 + x_1 - (x_2 + x_3)J}{(x_0 + x_1)^2 - (x_2 + x_3)^2} - \frac{x_0 - x_2J}{x_0^2 - x_2^2} \right] \end{aligned}$$

Example:

Take $X = (1 + I) + (2 + 3I)J = 1 + 2J + I + 3IJ$, where:

$x_0 = 1, x_1 = 1, x_2 = 2, x_3 = 3$, we have:

$$X^{-1} = \frac{1 - 2J}{-3} + I \left[\frac{2 - 5J}{-21} - \frac{1 - 2J}{-3} \right] = \frac{-1}{3} + \frac{2}{3}J + I \left[\frac{-2}{21} + \frac{5}{21}J + \frac{-1}{3} - \frac{2}{3}J \right] = \frac{-1}{3} + \frac{2}{3}J + \frac{5}{21}I - \frac{9}{21}IJ$$

Let's compute

$$\begin{aligned} X.X^{-1} &= (1 + 2J + I + 3IJ) \left(\frac{-1}{3} + \frac{2}{3}J + \frac{5}{21}I - \frac{9}{21}IJ \right) \\ &= \frac{-1}{3} + \frac{2}{3}J + \frac{5}{21}I - \frac{9}{21}IJ - \frac{2}{3}J + \frac{4}{3} + \frac{10}{21}IJ - \frac{18}{21}I - \frac{1}{3}I + \frac{2}{3}IJ + \frac{5}{21}I - \frac{9}{21}IJ - IJ + 2I \\ &\quad + \frac{15}{21}IJ - \frac{27}{21}I = 1 \end{aligned}$$

3. Zero divisors

Let X be a neutrosophic non zero split-complex number, we say that X is a zero divisor if there exists $Y \in NS - \{0\}$ such that $X.Y = 0$.

Theorem:

Let $X = (x_0 + x_1I) + (x_2 + x_3I)J$ be a neutrosophic split-complex number, then X is a zero divisor if and only if one of the following is true:

- 1). $x_0 = x_2$.
- 2). $x_0 = -x_2$.
- 3). $x_0 + x_1 = x_2 + x_3$
- 4). $x_0 + x_1 = -x_2 - x_3$.

Proof.

$X = (x_0 + x_2J) + I(x_1 + x_3J)$, by using the condition of being a zero divisor in a neutrosophic ring, we get that:

$x_0 + x_2J$ or $(x_0 + x_2J) + (x_1 + x_3J)$ is a zero divisor.

If $x_0 + x_2J$ is a zero divisor then it is not invertible, then $x_0^2 - x_2^2 = 0$, this implies that $x_0 = x_2$ or $x_0 = -x_2$.

On the other hand, if $(x_0 + x_2J) + (x_1 + x_3J)$ is a zero divisor, then $(x_0 + x_1)^2 - (x_2 + x_3)^2 = 0$, thus $x_0 + x_1 = x_2 + x_3$ or $x_0 + x_1 = -x_2 - x_3$.

4. Idempotency**Definition.**

A neutrosophic split-complex number X is called idempotent if and only if:

$$X^2 = X.$$

Theorem:

Let $X = (x_0 + x_2J) + I(x_1 + x_3J)$ be a neutrosophic split-complex number, then X is idempotent if and only if:

- 1). $x_0 - x_2 \in \{0,1\}$.
- 2). $x_0 + x_2 \in \{0,1\}$.
- 3). $x_0 + x_1 - (x_2 + x_3) \in \{0,1\}$.
- 4). $x_0 + x_1 + (x_2 + x_3) \in \{0,1\}$.

Proof.

$X = (x_0 + x_2J) + I(x_1 + x_3J)$ is idempotent if and only if $x_0 + x_2J$, $x_0 + x_1 + (x_2 + x_3)J$ are idempotent split-complex numbers.

Assume that $x_0 + x_2J$ is idempotent, then:

$$(x_0 + x_2J)^2 = x_0 + x_2J, \text{ thus: } \begin{cases} x_0^2 + x_2^2 = x_0 \\ 2x_0x_2 = x_2 \end{cases}.$$

So that $\begin{cases} (x_0 + x_2)^2 = x_0 + x_2 \\ (x_0 - x_2)^2 = x_0 - x_2 \end{cases}$, hence $x_0 - x_2, x_0 + x_2 \in \{0,1\}$.

By the same method, we can see that $x_0 + x_1 + x_2 + x_3, x_0 + x_1 - x_2 - x_3 \in \{0,1\}$.

Example.

$$X = \frac{1}{2} + \frac{1}{2}J, X^2 = \frac{1}{4} + \frac{1}{4} + \frac{1}{2}J = \frac{1}{2} + \frac{1}{2}J = X, \text{ so that } X \text{ is idempotent.}$$

5. Neutrosophic split-complex quadratic equation**Theorem.**

Let $AX^2 + BX + C = 0$ be a quadratic equations such that $A, B, C \in NS$ with

$$A = (a_0 + a_1I) + (a_2 + a_3I)J, B = (b_0 + b_1I) + (b_2 + b_3I)J, C = (c_0 + c_1I) + (c_2 + c_3I)J$$

$X = (x_0 + x_1J) + (x_2 + x_3I)J$, then it is equivalent to the following two split-complex equations:

$$\begin{cases} (a_0 + a_2J)(x_0 + x_2J)^2 + (b_0 + b_2J)(x_0 + x_2J) + (c_0 + c_2J) = 0 \\ [(a_0 + a_1) + (a_2 + a_3)J][(x_0 + x_1) + (x_2 + x_3)J]^2 + [(b_0 + b_1) + (b_2 + b_3)J][(x_0 + x_1) + (x_2 + x_3)J] \\ + (c_0 + c_1) + (c_2 + c_3) = 0 \end{cases}$$

Proof.

We write

$$A = (a_0 + a_2J) + (a_1 + a_3I)I, B = (b_0 + b_2J) + (b_1 + b_3I)I, C = (c_0 + c_2I) + (c_1 + c_3I)I,$$

$$X = (x_0 + x_2J) + (x_1 + x_3I)I$$

According to [], a neutrosophic quadratic equation:

$$(a_0 + a_2J)(x_0 + x_2J)^2 + (b_0 + b_2J)(x_0 + x_2J) + (c_0 + c_2J) = 0$$

Is equivalent to:

$$\begin{cases} a_0x_0^2 + b_0x_0 + c_0 = 0 \\ ((a_0 + a_1)(x_0 + x_1)^2 + (b_0 + b_1)(x_0 + x_1) + (c_0 + c_1) = 0 \end{cases}$$

By using this criteria, we get the following two equations:

$$\begin{cases} (a_0 + a_2J)(x_0 + x_2J)^2 + (b_0 + b_2J)(x_0 + x_2J) + (c_0 + c_2J) = 0 \\ [(a_0 + a_1) + (a_2 + a_3)J][(x_0 + x_1) + (x_2 + x_3)J]^2 + [(b_0 + b_1) + (b_2 + b_3)J][(x_0 + x_1) + (x_2 + x_3)J] \\ + (c_0 + c_1) + (c_2 + c_3) = 0 \end{cases}$$

Definition.

A square matrix T is called a neutrosophic split-complex matrix if it has neutrosophic split-complex entries.

Example.

$$T = \begin{pmatrix} 1 + I - J & 1 + IJ \\ -2I & 1 + 3IJ \end{pmatrix} \text{ is a } 2 \times 2 \text{ neutrosophic split-complex matrix.}$$

Remark.

A neutrosophic split-complex matrix is invertible if and only if its determinant is invertible.

$$\text{For example: } T = \begin{pmatrix} 1 + I - J & 1 + IJ \\ -2I & 1 + 3IJ \end{pmatrix}.$$

$$\det T = (1 + I - J)(1 + 3IJ) - (-2I)(1 + IJ) = 1 + 3IJ + I + 3IJ - J - 3I + 2I + 2IJ = 1 - J + 8IJ$$

6. Neutrosophic split-complex vector space

Definition.

Let V be a vector space over the real field, we define the corresponding neutrosophic split-complex vector space as follows:

$$V_{NS} = V + VI + VJ + VIJ = \{x + yI + zJ + tIJ; x, y, z, t \in V\}$$

Definition:

We define addition operation on V_{NS} is defined as follows:

(+): $V_{NS} \times V_{NS} \rightarrow V_{NS}$ such that:

For $X = x_1 + y_1I + z_1J + t_1IJ, Y = x_2 + y_2I + z_2J + t_2IJ \in V_{NS}$

$$\begin{aligned} X + Y &= (x_1 + y_1I + z_1J + t_1IJ) + (x_2 + y_2I + z_2J + t_2IJ) \\ &= (x_1 + x_2) + (y_1 + y_2)I + (z_1 + z_2)J + (t_1 + t_2)IJ \end{aligned}$$

We define multiplication operation on V_{NS} as follows:

(.): $V_{NS} \times V_{NS} \rightarrow V_{NS}$ such that:

For $X = x_1 + y_1I + z_1J + t_1IJ \in V_{NS}, A = a_1 + b_1I + c_1J + d_1IJ \in NS$

$$\begin{aligned}
A.X &= (x_1 + y_1I + z_1J + t_1IJ).(a_1 + b_1I + c_1J + d_1IJ) \\
&= a_1x_1 + a_1y_1I + a_1z_1J + a_1t_1IJ + b_1x_1I + b_1y_1I + b_1z_1IJ + b_1t_1IJ + c_1x_1J + c_1y_1IJ \\
&\quad + c_1z_1 + c_1t_1IJ + d_1x_1IJ + d_1y_1IJ + d_1z_1I + d_1t_1I \\
&= (a_1x_1 + c_1z_1) + (a_1y_1 + b_1x_1 + b_1y_1 + c_1t_1 + d_1z_1 + d_1t_1)I + (a_1z_1 + c_1x_1)J \\
&\quad + (a_1t_1 + b_1z_1 + b_1t_1 + d_1x_1 + d_1y_1)IJ
\end{aligned}$$

Theorem.

$(V_{NS}, +, \cdot)$ is a module over ring NS .

Proof.

It is that $(V_{NS}, +, \cdot)$ is an abelian group.

On other hand, for $A, B \in NS, X, Y \in V_{NS}$, we have:

$$1. X = X, (A + B).X = AX + BX, (AB)X = A.(B.X), A(X + Y) = AX + AY.$$

Example.

Consider the space $V = R^2 = \{(x, y); x, y \in R\}$ over R .

The corresponding neutrosophic split-complex vector space is:

$$V_{NS} = \{(x_0, y_0) + (x_1, y_1)I + (x_2, y_2)J + (x_3, y_3)IJ; x_i, y_j \in R\}$$

For example $X = (1, 1) + (1, 2)I + (0, 1)J + (1, 0)IJ = (1 + I + IJ, 1 + 2I + J) \in V_{NS}$

$A = 1 - J \in NS$, thus:

$$\begin{aligned}
A.X &= 1.(1, 1) + (1, 2)I + (0, 1)J + (1, 0)IJ - (1, 2)IJ - (0, 1) - (1, 0)I \\
&= (1, 0) + I(0, 2) + J(-1, 0) + IJ(0, -2) = (1 - J, 2I - 2IJ) \in V_{NS}
\end{aligned}$$

Definition.

Let w_1, w_2, w_3, w_4 be subspace of V , then we define:

$$w_{NS} = w_1 + w_2I + w_3J + w_4IJ = \{x + yI + zJ + tIJ; x \in w_1, y \in w_2, z \in w_3, t \in w_4\}$$

w_{NS} is called an AH-subspace.

If $w_1 = w_2 = w_3 = w_4$, then w_{NS} is called AHS-subspace.

Theorem.

Let W_{NS} be an AHS-subspace of V_{NS} , then W_{NS} is a submodule of V_{NS} .

Proof.

It is clear that $(W_{NS}, +)$ is a subgroup of $(V_{NS}, +)$.

$\forall A = a + bI + cJ + dIJ \in NS, X = x + yI + zJ + tIJ \in W_{NS}$, we have:

$$\begin{aligned}
A.X &= ax + ayI + azJ + atIJ + bxI + byI + bzIJ + btIJ + cxJ + cyIJ + cz + ctI + dxIJ + dyIJ + dzI + dtI \\
&= (ax + cz) + (ay + bx + by + ct + dz + dt)I + (az + cx)J + (at + bz + bt + cy + dx + dy)IJ \in W_{NS}
\end{aligned}$$

That is because:

$$\begin{cases} ax + cz \in w_1, ay + bx + by + ct + dz + dt \in w_2 \\ az + cx \in w_3, at + bz + bt + cy + dx + dy \in w_4 \end{cases}$$

Example.

Let $V = R^2, w = \langle (0, 1) \rangle = \{(0, x); x \in R\}$ is a subspace of V .

Let V_{NS} be the corresponding neutrosophic split-complex vector space.

$$W_{NS} = w + wI + wJ + wIJ = \{(0, x) + (0, y)I + (0, z)J + (0, t)IJ\} = \{(0, x + yI + zJ + tIJ); x, y, z, t \in R\}.$$

W_{NS} is an AHS-subspace of V_{NS} , and it is a sub module in the ordinary algebraic meaning.

Definition.

Let V_{NS} be a neutrosophic split-complex vector space.

Let f_1, f_2, f_3, f_4 be linear transformations, where:

$f_1, f_2, f_3, f_4: V \rightarrow T$, T is a vector space over R .

We define the AH-linear transformation as follows:

$f: V_{NS} \rightarrow T_{NS}$ such that:

$$f(x + yI + zJ + tIJ) = f_1(x) + f_2(y)I + f_3(z)J + f_4(t)IJ$$

If $f_1 = f_2 = f_3 = f_4$, we call f an AHS-linear transformation.

Example.

Let $V_{NS} = R_{NS}^2, T_{NS} = R_{NS}^2$, we have:

$f_1: V \rightarrow T$ such that $f_1(x, y) = (x, y, y)$.

$f_2: V \rightarrow T$ such that $f_2(x, y) = (y, 2x, 2y)$.

$f_3: V \rightarrow T$ such that $f_3(x, y) = (x + y, x - y, -3x)$.

$f_4: V \rightarrow T$ such that $f_4(x, y) = (2x + y, 3x - y, 4x + 5y)$.

Are four classical linear transformations. The corresponding AH-linear transformation is:

$f: V_{NS} \rightarrow T_{NS}$ such that:

$$\begin{aligned} f((x_0, y_0) + (x_1, y_1)I + (x_2, y_2)J + (x_3, y_3)IJ) &= f_1(x_0, y_0) + f_2(x_1, y_1)I + f_3(x_2, y_2)J + f_4(x_3, y_3)IJ \\ &= (x_0, y_0, y_0) + (y_1, 2x_1, 2y_1)I + (x_2 + y_2, x_2 - y_2, -3x_2)J + (2x_3 + y_3, 3x_3 - y_3, 4x_3 + 5y_3)IJ \end{aligned}$$

The function $g: V_{NS} \rightarrow T_{NS}$ such that:

$$\begin{aligned} g((x_0, y_0) + (x_1, y_1)I + (x_2, y_2)J + (x_3, y_3)IJ) &= f_1(x_0, y_0) + f_1(x_1, y_1)I + f_1(x_2, y_2)J + f_1(x_3, y_3)IJ \\ &= (x_0, y_0, y_0) + (x_1, y_1, y_1)I + (x_2, y_2, y_2)J + (x_3, y_3, y_3)IJ \end{aligned}$$

Theorem.

Let V, T be two vector space over R , $f_1: V \rightarrow T$ is a linear transformation.

Let V_{NS}, T_{NS} be the corresponding neutrosophic split-complex vector spaces. $f: V_{NS} \rightarrow T_{NS}$ be the corresponding AHS-linear transformation, then f is a module homomorphism.

Proof.

Let $X = x_0 + x_1I + x_2J + x_3IJ, Y = y_0 + y_1I + y_2J + y_3IJ \in V_{NS}$, and $A = a + bI + cJ + dIJ \in NS$.

$$\begin{aligned} f(X + Y) &= f_1(x_0, y_0) + f_2(x_1, y_1)I + f_3(x_2, y_2)J + f_4(x_3, y_3)IJ \\ &= [f_1(x_0) + f_2(x_1)I + f_3(x_2)J + f_4(x_3)IJ] + [f_1(y_0) + f_2(y_1)I + f_3(y_2)J + f_4(y_3)IJ] = f(X) + f(Y) \end{aligned}$$

$$\begin{aligned} A.X &= ax_0 + ax_1I + ax_2J + ax_3IJ + bx_0I + bx_1I + bx_2IJ + bx_3IJ + cx_0J + cx_1IJ + cx_2 + cx_3I + dx_0IJ \\ &\quad + dx_1IJ + dx_2I + dx_3I \\ &= (ax_0 + cx_2) + (ax_1 + bx_0 + bx_1 + cx_3 + dx_0 + dx_1)I + (ax_2 + cx_0)J \\ &\quad + (ax_3 + bx_2 + bx_3 + cx_1 + dx_2 + dx_3)IJ \in W_{NS} \end{aligned}$$

$$\begin{aligned} f(A.X) &= f_1(ax_0 + cx_2) + If_1(ax_1 + bx_0 + bx_1 + cx_3 + dx_0 + dx_1) + Jf_1(ax_2 + cx_0) \\ &\quad + IJf_1(ax_3 + bx_2 + bx_3 + cx_1 + dx_2 + dx_3) \end{aligned}$$

$$\begin{aligned}
&= af_1(x_0) + cf_1(x_2) + I[af_1(x_1) + bf_1(x_0) + bf_1(x_1) + cf_1(x_3) + df_1(x_2) + df_1(x_1)] \\
&\quad + J[af_1(x_2) + cf_1(x_0)] + IJ[af_1(x_3) + bf_1(x_2) + bf_1(x_3) + cf_1(x_1) + df_1(x_2) + df_1(x_3)] \\
&= A.f(X)
\end{aligned}$$

So that, the proof is complete.

7. Conclusion

In this paper, we have defined the neutrosophic split-complex numbers as a combination between classical well-known split-complex numbers and neutrosophic numbers. Many related concepts such as neutrosophic split-complex equations, neutrosophic split-complex vector spaces, and neutrosophic split-complex AH-spaces were presented and discussed in terms of theorems. Also, we have illustrated many examples to explain the validity of this work. As a future research direction, we aim to find many applications of neutrosophic split-complex numbers especially in algebraic structures and physics.

Acknowledgments " This study is supported via funding from Prince Sattam Bin Abdulaziz University project number (PSAU/2023/R/1444) ".

References

- [1] Deckelman, S.; Robson, B. Split-Complex Numbers and Dirac Bra-kets. Communications In Information and Systems **2014**, 14, 135-159.
- [2] Akar, M.; Yuce, S.; Sahin, S. On The Dual Hyperbolic Numbers and The Complex Hyperbolic Numbers. Jcscm **2018**, 8, DOI: 10.20967/jcscm.2018.01.001.
- [3] Fjelstand, P. Extending Special Relativity Via The Perplex Numbers. American Journal Of Physics **1986**, 54, Doi: 10.1119/1.14605.
- [4] Abobala, M., "Neutrosophic Real Inner Product Spaces", Neutrosophic Sets and Systems, Vol. 43, 2021..
- [5] Celik, M., and Olgun, N., " An Introduction To Neutrosophic Real Banach And Hillbert Spaces", Galoitica Journal Of Mathematical Structures And Applications, 2022.
- [6] Celik, M., and Olgun, N., " On The Classification Of Neutrosophic Complex Inner Product Spaces", Galoitica Journal Of Mathematical Structures And Applications, 2022.
- [7] Aswad, F, M., " A Study of Neutrosophic Complex Number and Applications", Neutrosophic Knowledge, Vol. 1, 2020.
- [8] Smarandache, F., and Kandasamy, V.W.B., " Finite Neutrosophic Complex Numbers", Source: arXiv. 2011.
- [9] Agboola, A.A.A., Akinola, A.D., and Oyebola, O.Y., " Neutrosophic Rings I" , International J.Mathcombin, Vol 4,pp 1-14. 2011.
- [10] Adeleke, E.O., Agboola, A.A.A.,and Smarandache, F., "Refined Neutrosophic Rings I", International Journal of Neutrosophic Science, Vol. 2(2), pp. 77-81. 2020.
- [11] Smarandache, F., and Ali, M., "Neutrosophic Triplet Group", Neural. Compute. Appl. 2019.
- [12] M. Ibrahim. A. Agboola, B.Badmus and S. Akinleye. On refined Neutrosophic Vector Spaces . International Journal of Neutrosophic Science, Vol. 7, 2020, pp. 97-109.
- [13] Celik, M., and Hatip, A., " On The Refined AH-Isometry And Its Applications In Refined Neutrosophic Surfaces", Galoitica Journal Of Mathematical Structures And Applications, 2022.
- [14] Chellamani, P., and Ajay, D., "Pythagorean neutrosophic Fuzzy Graphs", International Journal of Neutrosophic Science, Vol. 11, 2021.
- [15] Sankari, H., and Abobala, M., "Solving Three Conjectures About Neutrosophic Quadruple Vector Spaces", Neutrosophic Sets and Systems, Vol. 38, pp. 70-77. 2020.
- [16] Abobala, M.,. "A Study of AH-Substructures in n -Refined Neutrosophic Vector Spaces", International Journal of Neutrosophic Science", Vol. 9, pp.74-85. 2020.
- [17] Abobala, M., "AH-Subspaces in Neutrosophic Vector Spaces", International Journal of Neutrosophic Science, Vol. 6 , pp. 80-86. 2020.